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Second Year, Examination, 2017 

Time : 3 Hours   Max. Marks : 80 

Note : This paper is of eighty (80) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is Cash Flow Statement ? Give its broad format 

and state its uses.  

jksdM+ izokg fooj.k D;k gS \ bldk foLr`r izk:i nhft, 

rFkk blds mi;ksxksa dk mYys[k dhft,A  

2. Define „marginal costing‟. What is its utility in a large 

manufacturing concern ?  

^lhekUr ykxr ys[kkadu* dks ifjHkkf”kr dhft,A fdlh cM+s 

fuekZ.kh laLFkku esa bldh D;k mi;ksfxrk gS \ 

3. Standard cost of a product is :  

Time 6 hours per unit 

Rate ` 4 per hour 

Actual cost :  

Production  1500 units 

Hours taken  7600 

Idle time (hours) 400 

Total hours 8000 

Total labour cost amounted to  ` 40,000 

Calculate labour variance.  
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,d mRikn dh izeki ykxr fuEuor~ gS % 

le; 6 ?k.Vs izfr bdkbZ 

nj ` 4 izfr ?k.Vk 

okLrfod ykxr %  

mRiknu 1500 bdkb;k¡ 

iz;qDr ?k.Vs  7600 

O;FkZ le; ¼?k.Vs½ 400 

dqy ?k.Vs 8000 

dqy Je ykxr  ` 40]000 

Je fopj.kka’k dh x.kuk dhft,A  

4. Calculate debt-equity ratio, fixed assets ratio, current 

ratio and solvency ratio with the help of the following 

particulars of a business institution :  

        ` 

Current Assets 50,000 

Current liabilities  30,000 

Fixed assets 1,00,000 

Long-term liabilites  70,000 

Equity  1,50,000 

,d O;kolkf;d laLFkku ds vxzfyf[kr fooj.kksa ds vk/kkj ij 

_.k&lerk vuqikr] LFkk;h lEifŸk;ksa dk vuqikr] pkyw 

vuqikr ,oa ‘kks/ku {kerk vuqikr Kkr dhft, % 
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      ` 

pkyw lEifŸk;k¡ 50,000 

pkyw nkf;Ro  30,000 

LFkk;h lEifŸk;k¡ 1,00,000 

nh?kZdkyhu nkf;Ro  70,000 

lerk  1,50,000 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is meant by cost accounting  ? Discuss the 

advantages of cost accounting to management.  

ykxr ys[kkfof/k ls vki D;k le>rs gSa \ izcU/k dks ykxr 

ys[kkfof/k dh mi;ksfxrkvksa dh foospuk dhft,A  

2. “Perpetual inventory system means continuous stock 

taking.” Do you agree ? Give your answer with 

reasons.  

ßlrr~ eky lwph iz.kkyh dk vFkZ lrr~ eky&iM+rky iz.kkyh 

gksrk gSAÞ D;k vki blls lger gSa \ dkj.k lfgr viuk 

mŸkj nhft,A  
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3. Distinguish between cost classification and cost 

allocation.  

ykxr oxhZdj.k ,oa ykxr forj.k esa vUrj Li”V dhft,A  

4. Write a note on job costing. In which industries is it 

adopted ?  

midk;Z ykxr fof/k ij ,d fVIi.kh fyf[k,A ;g fdu 

m|ksxksa eas viukbZ tkrh gS \ 

5. Explain normal wastage, abnormal wastage and 

abnormal gain and state how they should be dealt 

within Processs Cost Accounts.  

lkekU; {k;] vlkekU; {k; rFkk vlkekU; ykHk dh O;k[;k 

dhft, rFkk crkb, fd izfØ;k ykxr ys[kksa esa budk ys[kk 

fdl izdkj fd;k tkrk gSA 

6. What is operating costing ? State the procedure of 

ascertainment of cost followed by a transport company.   

ifjpkyu ykxr ys[kk D;k gS \ ,d ifjogu dEiuh eas 

iz;ksx dh tkus okyh ykxr fu/kkZj.k dh izfØ;k dks 

le>kb,A  

7. Discuss briefly the objectives and limitations of 

budgetary control.  

ctVjh fu;a=.k ds mn~ns’;ksa o lhekvksa dk la{ksi esa o.kZu 

dhft,A  

8. What is meant by break-even analysis ? Explain its 

assumptions and limitations.  

le&foPNsn fo’ys”k.k dk D;k vFkZ gS \ bl rduhd dh 

ekU;rkvksa vkSj lhekvksa dk o.kZu dhft,A  
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k, %  

1. Cost unit and cost centre have the same meaning.  

ykxr bdkbZ vkSj ykxr dsUnz dk ,d gh vFkZ gksrk gSA  

2. In ABC system, „A‟ items are those which are used in 

largest quantities. 

, ch lh iz.kkyh esa ^,* ensa os gksrh gaS tks lcls vf/kd ek=k 

eas iz;ksx gksrh gSaA  

3. Distribution of overhead over cost units is known as 

overhead absorption.  

mifjO;;ksa dk ykxr bdkb;ksa ij vkcaVu mifjO;; lafoy;u 

dgykrk gSA  

4. Fixed budget is suitable for fixed expenses.  

LFkk;h ctV LFkk;h O;;ksa ds fy, mi;qDr gksrk gSA  

5. Profit-volume ratio indicates relationship between 

profit and sales.  

ykHk&ek=k vuqikr] ykHk rFkk fcØh esa lEcU/k crkrk gSA  
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Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft, % 

6. Cost Accounting is most useful for ........... industry.  

ykxr ys[kkadu 
---------------

 m|ksx ds fy, vf/kd mi;ksxh gSA 

7. Prime cost includes direct material and ............ cost.  

ewy ykxr esa izR;{k lkexzh o 
---------------

 ykxr lfEefyr gSA  

8. Economic order quantity is that quantity at which 

............. is minimum.  

vkfFkZd vkns’k ek=k og ek=k gS ftl ij U;wure 
----------------

 gksA 

9. Payment for idle time, generally, is done under ........... 

wage system.  

O;FkZ le; dk Hkqxrku dsoy 
--------------

 etnwjh iz.kkyh ds 

vUrxZr gh fd;k tkrk gSA  

10. In oil refinery ............ cost method is used.  

rsy ‘kks/ku esa 
-------------------

 ykxr fof/k viukbZ tkrh gSA  
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